The Accumulation Function - Homework
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1. Let F(x)= f f(1)dr where the graph of f(x) is above (the graph consists of lines and a quarter circle)
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b. On what subintervals of |0, 8] is Fincreasing? Decreasing? Justify your answer. "
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c. Where in the interval |0, 8] does Fachieve its minimum value? What is the minimum value? Justfy answer.
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—d, Where in the interval [0, 8] does F achieve its maximum value? What is the maximum value? Justify answer.
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e. Find the concavity of Fand any inflection points. Justify answers. pts (‘}? m@(e@ﬁ“w\ . ( Bj LD
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f. Sketch a rough graph of F (,x)
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2. Let F(x) = f S(1)dr where the graph of f(x) is above (the graph consists of lines and a semi-circle)

a. Complete fhe chart

x -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
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b. On what subintervals of [—4,8] is / increasing? Decreasing? INERTN
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d. Where in the interval [—4,8] does /" achieve its maximum value? What is the maximum value? Tustify anls\xre:f.g
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e. On what subintervals of [~4,8] is /" concave up and concave down? Find its inflection points. Justify
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f. Sketch a rough graph of F(x)




